

Bài 3. Tính theo thứ tự thực hiện phép tính.

a) $\frac{3}{-10} - \frac{-4}{15} + \frac{2}{-3};$

b) $\frac{7}{-18} + \left(\frac{-5}{12} - \frac{13}{-18} \right).$

$$\frac{3}{-10} - \frac{-4}{15} + \frac{2}{-3}$$

$$= \quad - \quad - \quad -$$

$$= \quad - \quad - \quad -$$

$$= \quad - \quad = \quad -$$

$$\frac{7}{-18} + \left(\frac{-5}{12} - \frac{13}{-18} \right)$$

$$= - + \left(- \quad - \right)$$

$$= - + \left(- \quad - \right)$$

$$= \quad - \quad - \quad = \quad - \quad -$$

$$= \quad - \quad \text{LIVEWORKSHEETS}$$